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9x2 +ax+1=(3x+1)
a=2%Xx3%X1, a=6

4x2 4 8x+ b = (2x + 2)°
b=2%b=4

L a+b=6+4=10
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Qte] &7t AF47t Hojof gtk Viga = V32 x2Xa




V(2= v3) = \/(1- v2)" & ekl s

@ -3+2V2 ® 1-23
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1<V2<20E22-12>0,1-V2<0
2= v2|-[1- v2| =2- V2+1-v2
=3-2V2




O Aol A Cofl sigste dee?

oV ovii @) @ VvEm 6 Vv

V25 < x < V36
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@x2—y2—2x—2y @ x?—y?-2x+2y
@ x2-y>4+2x+2 @ x*+y*-2x-2y

® x2-y>+2x-2y

(x+y)(x-y-2)
=(x+y)(x-y)-2(x+y)
=x2-y?-2x-2y
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@ 33 +x2-x=x(3x2+x-1)
@ —x2+25=(5+x)(5-x)
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® 6x2+5x+1=(2x+1)(3x+1)
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=4(3x +y)
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D x2-16 @ x*+4 ® xt-4
C@)x4—16 ® x*+4

(x=2)(x+2)(x>+4) =(x2-4)(x> +4) =x* - 16
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® (x® + 6x+9)m?

7h2o] ZolE (x+2)m *11:%4 Aol (x-3)m °lth.
(x+2)(x=3) = (** ~x=6)m
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@ S =nab @S = 2nab ® S = 4nab

@ S = 8nab ® S = 167ab

=n(a + b)? - n(a® + b?)
= n(a® + 2ab + b* — a® - b?)
= 2nab




16. x+y=3, xy=-4 4, x> +y% - xy 9] &f2?

O 18 @ 19 ® 20 @21 ® 22

X —xy+y? = (x+y)? - 3xy
=32-3x(-4)
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AxX> 4+ Bx+C=(3x-1)(2x+ 1)
A’ +Bx+C=6x>+x—-1
LA=6, B=1, C=-1
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